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S THERX=1+5H TAFR=+FH [tFER=TFH +TEER =15
18 26.4844 34.3507 26.5549 34.5540
19 28.0390 36.2751 28.1166 36.5011
20 29.6800 38.2651 29.7656 38.5165
21 31.4352 40.3371 31.5301 40.6168
22 33.2307 42.4783 33.3363 42.7899
23 35.1233 44.7290 35.2412 45.0769
24 37.1102 47.0816 37.2420 47.4699
25 39.2181 49.5504 39.3659 49.9839
26 41.3957 52.1129 41.5617 52.5967
27 43.6833 54.8086 43.8700 55.3480
28 46.0282 57.6122 46.2378 58.2134
29 48.4747 60.5737 48.7099 61.2439
30 51.0621 63.7231 51.3255 64.4705
31 53.7810 67.0615 54.0758 67.8964
32 56.6589 70.6479 56.9888 71.5848
33 59.6914 74.4735 60.0607 75.5293
34 62.8656 78.5461 63.2785 79.7410
35 66.1715 82.8639 66.6325 84.2221
36 69.6132 87.4142 70.1270 88.9626
37 73.2119 92.1495 73.7835 93.9156
38 76.9715 97.0746 77.6060 99.0899
39 80.9330 102.1888 81.6374 104.4893
40 85.0646 107.4775 85.8472 110.1055
41 89.3728 1129113 90.2452 115.9151
42 94.0247 118.5262 95.0037 121.9596
43 99.0103 124.3013 100.1173 128.2247
44 104.3509 130.2153 105.6120 134.6934
45 110.0477 136.2285 111.4963 141.3307
46 116.1112 142.3633 117.7852 148.1639
47 122.4564 148.6104 124.3959 155.1877
48 129.1249 154.9847 131.3762 162.4200
49 136.1116 161.4538 138.7273 169.8285
50 143.4475 168.0109 146.4874 177.4085
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